1. xol #FA ax+b =09 o7} gl& 2027

®a=0,b6=0 @a=0b#0 @ a0 b=0
@ a+0,b#0 ® a#0

ax=-b A 37t gl& 2L a=0,b#0 |tk




Alax—4=x-b7} 347}

ofzt.

=
H -

>
>

cCh "
H -

.

ul
KO

WA ax+b = cx+d A

Wb a1, b

4 oJtt,




oo

:3x—2_




54 ax-5=3(x+1)+b 7ol e FEAL W, a+b ] FHL?

@5 o-2 01 @ 2 ® 4

ax-5=3(x+1)+b=3x+3+b°|E2 qg=3, b= -8 O|t},
ek g+ b = -5 o[t




> o
> mgt x:—g

02(x+3)-5=0.3x-0.5(2 - 3x)
el 102 F3HH
2(x+3)—50=3x-5(2-3x)
2x+6 —-50 =3x— 10 + 15x
2x—44 = 18x - 10
—16x = 34

17

SoX =

8




@ x=3y°lH x+2=3(y+2) °|th.

x_y B

@ 351 O™ 3x = 4y o|t}.
@x:?)yo]@x—2:3y—2°]u}.
@ —x=yolHx-2=-y+20°]t}
® x=3y°ld 2= ole}.

@ x =3y & of, FHel 28 TIotH, x + 2 = 3y + 20/}, 17
BRx4+2=3y+622A &
@ 5 =7 9, FE) 128 FoHA 4x = 3yolth. QB2
3x=4y= 34 g

® x =3y FH| 25 WA x -2 =3y - 20|t}

@ —x=yd o, FH 25 HolH —x-2=y-20°[t}. 117
D2 x-2=-y+2+= 24 gh

®x=3dm, FAL 152 1@ L = Lotk 1gnz

<

2] st

rr

(SRS

X
2




T H

-1

17x+4=-13=>17Tx=-17T=x

H7]

a=>b0%1c>04 0,
Qa+c=b+c
Oa-c

b-c

© ac = bc

b
c

a

Cc

ul
RO

ull
KO




-1 2(1 - 1
L VN Ut )

o:

o

J
W

3 2
o s7bx = £, y= L Al ptq ol G Pfelet,

—2=--02(y-3

5)‘4‘1 — 2(x—3)—2 9] oFHo] 4

5x—1=8x—-24-8
31

2(1-5 1 _
ijrﬁ—2=5—0%w%)ﬂ%%ﬂﬁm%%d%

40(1 - 5y) — 120 = 30 — 12(y — 3)

it
I
ot

&

X

———" . g=-730
y o1 q 73 ©o]tt.

w2tA p+ g = 31 - 73 = —42 °|t}.

)



WA _9x + 5 = Tx— 40, 5x +a = 6x+ 8 o t5lo] 3591 sj7}

At A 9 AT PA S EH x =5 ot}
5x+a=6x+8 A x=55 dYdstH
25+a=30+8

La=13




10.

J ooy = T2 g mrsi iy of djstel x:y 2

5
o] v &2 vehd 2129

Zhegt

—

2}

bl

Folx Alo] o] 10E &t
3x — 5y = 2x + 4y

x =9y
wefA] x iy =9:1 o[t}




11. xof I 54 (a-3)x+2 =5x—b 2 7} F5
o] gk= F+stofet

5l WS, a+b

(a-3)x+2=5c-b | s7} Boa] GoHH
a-3=5..a=38

2=-b..b=-2

“a+b=8+(-2)=6




5x+1 x-3
=-55:1
4 2
> E
> Feh: x=2
]_ —
Sl X238 p5iq
1% X — 5x+ 1
-—— X =1x
2 2 4
—11x+33=5x+1
16x = 32

Lx=2




13. the F 94 g 22

DO a+c=b+c©oHa=bolt}.
@ a=bolHa-c=b-c ot}

@ac = bc ©|H g = b o]t}
1 1
@ 5(1 = gb O] 3q = 2b ©|T}.

® a=b 9" ac = bc ©]t}.

@ A= E0]1x0=2x0°]AT 12 o]t}
Zc#0<Y M, ac = bc ©|A a = b O[T}




D)140m @ 145m @ 150m

7\7pe] Aol vmet s,
580 +x 3700 + x
24 128
16(580 + x) = 3(3700 + x)
9280 + 16x = 11100 + 3x
13x = 1820
o x =140
wpabA, 7]2}e] dol= 140 m o|th.




15.

1
)
N
N

S,
ox
sk
1P

)
lo

= g9 200m € Soel=d 20 = €
T 500m HE@E S35h=1] 30 27} AWt o] o] Zol=?

D 120m @ 150m @ 300m @400m ® 450m

B

Azte] Zo] xm =2} ofH
200m oHe]E F o EAoF 2291 A e
500m tHe] & Fe o] x7F 291 A9 (500 + x)m
200+ x 500+ x
20 30
FHol 60 & H5HH,
3(200 + x) = 2(500 + x)
600 + 3x = 1000 + 2x
Cox = 400




3- 2 _
WA (2x—3) 1= (a+2x):3, i :b_gxoﬂ ta) 2=l

7b ZA5k, 1 7 A A 2(1.4x - 1.1) = —0.2x + 6.8 9] 7}
o} olw, A& a, b O] gho] 327

—

it ol

@1 @ 2 ® 3 @ 4 ©OF

B *

2(1.4x - 1.1) = —0.2x + 6.8 9 A
2.8x—-22=-0.2x+6.8

3x=9
SLx=3
1)a+2x=302x-3)°l x =3 st
a=3
i) STX 2o x =32 OjYeta

4 3
bh=2

La+b=3+2=5




